3-3 Proving Lines Parallel

Recall: What is the converse of a conditional statement?
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Corresponding Angles Converse Postulate
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Alternate Interior Angles Converse Theorem
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Consecutive Interior Angles Converse Theorem ( dlo Soww—Siche Tnieniog)
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Alternate Exterior Angles Converse Theorem
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EX 1) Find the value of x that makes j||%.
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So [x=20}




EX 2) Use the figure to the right to answer the following questions. Justify your answer.
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EX 6) Does the information given in the diagram allow you to conclude that a||5? Explain.
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